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No.0+9.0 40 1.41 1.23 49
5 9.0 109
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18-8-40BB
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R IR g = o =
JOvoEESS H=| (2.370+2.610)/2 2490 m
BIOvIEEHS h=| 2.490-0.100 2390 m
JOovoiEmiE 2.390%5.0x1.077 ( BE 1:04) 12.87 m2
%2 35cm
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R IR g = o =
JOvsEESS H=| (2.610+3.098)/2 2850 m
BIJOvIEENS h=| 2.850-0.100 2750 m
JOovoiEmiE 2.750%4.0x1.077 ( BE 1:04) 11.85 m2
%2 35cm
EAHaALHY—k 11.85%0.10 1.19 m3
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fRsA S —k 10m2&=-YDEKXH=E V=2.2m3/10m2
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V=2.2%1/10xJ O/ EE A
=22%1/10 % 11.85 261 m3
EAR THEDEE
RC-40 H=(2.910+3.180)/2 3.050 m
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b1=0.20%1.077 0215 m
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b2=3.050%0.10+0.20%1.077 0520 m
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V=(0.215+0.520)*1/2%3.050%4.0 448 m3
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AV —hERE V={(0.10+0.30) *1/2%0.42+0.10%0.30} *5.4 046 m3
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420 ‘ 100
100 | 520 | 100
0 HlLayvz)—Fk
AL FRie B =
avo)—k
18-8-40 ((0.10+0.30)*1,/2%0.42+0.10%0.30)*10.00
m3 1.140
B
—h% (0.10+0.30)%10.00
m2 4.000
HLavol)—k
0.72%0.10%10.00
m3 0.720
¥Lary)—rE#
0.10%2%10.0
m2 2.000
HEEIE
0.72%10.00
m2 7.200




M A /NOwEHars)—t 1T MY
73 B -

3398

Hm - éﬁ'i‘ ﬁ

avol)—k
18-8-40 (0.700+0.977) *1/2%2.770%0.30+
(0.700+1.040) *1/2%3.398*0.30
m3 1.580

[
&

— & (0.700+0.977) *1/2%2.770%2.0+2.770%0.30%1.077+
(0.700+1.040) *1/2+%3.398*2.0+3.398%0.30%1.077
m2 12.540
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AL FRie B o =
AEA+T
IR R ER 50% (2.770%1.385+3.398%1.699)
m2 4.805
RAsHha>o)—k

4.805%0.35/2

m2 0.841
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zE BRI ET ATy t=50mm 4.6
=) RM-30 t=100mm 4.6
T A RC-40 £=150mm 4.6




Mo T K o= R A OE
T A B FJ&  (50mm) b J A% (100mm) T )& 4% (150mm)
(m) &) L HE ) | BRE () o HE ) | BE () P e od)
NO. 0 0. 50 0. 50 0. 50
NO. 0 + 5.0 5.00  0.52 0.51 2.55|  0.52 0.51 2.55 0. 52 0.51 2.55
NO. 0 + 9.0 4.00  0.50 0.51 2.04|  0.50 0.51 2. 04 0. 50 0.51 2. 04
i 9.00 4.59 4. 59 4. 59






